1. sinA= % & o, cos AtanA 9] g £5toiz=t.
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5. H= 13 aABC oA AZH o] 25 HA x 9o gh& +5HH?

@ 8.192

Ze sin

cos tan
54° 0.8090 0.5878 1,.3764
55° 0.8192 0,5736 1.4281
56° 0.8290 0,5592 1.4826

@ 5.736 @ 5.878

@ 8.09 ® 8.29



6. ™A AC=10,AB =12, /A = C
60° < m, BC 9] dol& Fsfof=t.

D2Vl @ 2V1iT ® 2421 @ 229 ® 2431
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@ sin230°+cos245°:g

@ sin0°xcos30° 4 cos60° X tan45° =1
1

©) cosO°Xsin90°—tan45°><(30560°:5

@ sin60°xsin0°+ cos30°xcos0° =1

. 1
® sin90°x cos60° —cos90° X tan 60° = 3



8. & I™elA A& DC 9 Fol? (T, /B = 60°, /DAC =
45°, BC = 10cm )
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& 1o A LABC = /BCD = 90°, /BAC = 60°, /BDC = 45°,
AB= V34,
BD? of 3429

@ 5 @ 9 ® 12 @ 15 ® 18






